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o H16~H20 H21~H25 H26~H30 R2~R6 R7~R11 R12~R16 R17~R21 R22~R26 R27~R31
[t 3aL—vav]
(1) R2~R6R K5 IR M EE
R2~ROIZMEMEE [ = #R9  x EOREEHBE| = R~ROEGBRTAN x FREME
73,500,000 = 5% X 14,700,000 = 588 X 25000
(2) R7 IREBEBIRME
R7~R11{2# = B x [BREEORBEREHE = RI~RUERTIS x HREE
130,000,000 = 5% X 26,000,000 = 1,040 X 25000
(3) R12~RI6R B EF5IR 14
RI2~RIGIZHELIAZE | =  #R0  x EORBEBE| = RIZ~RIGERTN x EREME
167,500,000 = 5% X 33,500,000 = 1,340 X 25000
(4) R17T~RAAREFFEIRMEE
R17~R21{2# = HiR x |BEEORBERBHE - RU~RAGBRTAH x EREME
165,000,000 = 5% x 33,000,000 = 1,320 X 25000
(5) R22~R26X B £ F51R 148
R22~R261RHEHREE | = MRS x |HEEONREEBHE| = RR2~RGIEHRTHY x FREME
105,250,000 = 5% X 21,050,000 = 842 X 25000
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(6) REXBIRHME

641,250,000 =

R =

R2~R6IRHt#EE  +
73,500,000 +

R7~R11{2 {4348
130,000,000

+ RI2~RIGIZML#EE + RIT~R2BM#R%E + R22~R26IR{H%E

+ 167,500,000 + 1

65,000,000 +

105,250,000
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